— - AN\\&YL) Hw 3 -93%
;ﬁ Sl
LY l 7 W= Yl
- D ¢ ooy
Q \ § '(7 \)\'\\Q \Y\A\\\h{\ml \\} JQ n
B | Byl [0l =0F 0l
& @ - - : e
—D Y (YY) ﬁn‘ﬂ T =<7 ZB:ZM ‘L"’\ Z/; ) &3: (7-/1) (,n) ”n:;j
4,9 W
7 D) ), 2 L l3\1 B &
;Q () &= 8 'ZM ")

S1ONAYN) = T v

85.43(,‘— \‘flﬁé Y/V\

W () ) = 7500020y, 0v) - Q) (10

u&s A (?,M\\m A

>

36‘0’/\\\\)'\’%(' ‘:(\.(\)‘\\r f{ Mn) = ,»rz/l\y )/(J\rp\»,- N N /\‘-\

(c;i(m\\zp 9 (e - jw« F - Zwﬂ\ -
¥ ll\- ~ / l

”l(/w‘ ’\"\A‘ 9 (A )) ');Q




A\)4n |

I 1-Y7)

/.u 1\
g4

zvik--

@2 M;ﬂamml Voo

g
Tae Cﬁw nzl o 1o LY - 3 N

L YN = iy - k=

Vﬁl/ 1 \ ! v
—
% X A{VL (fll/‘\v\)a/.\VL\I

YO) = by ) =

L5

(kviks))y) - hz/ﬂy i p\* (l&yl)-_ ___:,_
1

Lo/ )

— Rk

\ailde K —

& 431
{h D > WDy ko (kb = &T (ko)

o
202 - Ky (o 2 S0 ‘)M o \/W(Qwﬁ L{ oo 2 i i

Ly S Tt

= 5 =7 N D (T 4T 1 faa) )

-~ (L,,:/f) a,./\/]\ g "& YA \\ [2/ ’\Yl\n

UBMS (qum Lm}« g'z

18 - (L)

Sﬂ-" OL"/O

S\—, |71361\

S g2

S " 13} ZS—L‘:SO

D 1K
ey




